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When x is subtracted from the number 9, 15 and 27, 
the remainders are in continued proportion. What is 
the value of x?
जब x को 9, 15 और 27 कì सं́ या से घटाया जाता है, तो 
अवशेष सतत ्अनुपात म¤ होते ह§। x का मूÐय ³या है?
a. 8       b. 6       c. 4        d. 5          e. None of these
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A certain amount was to be distributed among A, B 
and C in the ratio 2:3:4 respectively but was 
erroneously distributed in the ratio 7:2:5 
respectively. As a result of this, B got rupees ₹40 less. 
What is the amount?
एक िनिĲत रािश øमशः 2: 3: 4 के अनुपात म¤ A, B और C के 
बीच िवतåरत कì जानी थी, लेिकन øमशः 7: 2: 5 के अनुपात 
म¤ गलत तरीके से िवतåरत कì गई थी। इसके पåरणामÖवłप, B 
को ₹40 कम िमले। रािश ³या है?
a. ₹210 b. ₹270 c. ₹230 d. ₹280 e. None of these
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In 96 litres mixture of milk and water; the milk 
concentration is 0.6. Find the quantity of water to be 
added so that the ratio gets reversed.
दूध और पानी के 96 लीटर िम®ण म¤; दूध कì सांþता 0.6 है। 
अनुपात को उलटने के िलए िमलाये जाने वाले जल कì माýा 
²ात कìिजये।
1. 40.6         2. 12.8        3. 21.5         4. 48           5. 144
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A mixture contains alcohol and water in the ratio 

. On removing 5.2 litres of alcohol (by advanced 
filtration method), the ratio of alcohol to water 
becomes 0.5. Find the final quantity of mixture. 

एक िम®ण म¤ एÐकोहोल और पानी  के अनुपात म¤ है। 5.2
लीटर एÐकोहोल िनकालने पर (उÆनत िनÖपंदन िविध Ĭारा); 
एÐकोहोल और पानी का अनुपात 0.5 हो जाता है। अंितम 
िम®ण कì माýा ²ात कìिजये।
1. 6.6         2. 22             3. 3.6             4. 8.8            5. 13
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Equal quantities of three mixtures of milk and water 
are mixed in a fourth vessel, in the ratio of 11:4, 7:5 
and 13:7. Find the ratio of the water to milk in the 
fourth vessel.
दूध और पानी के तीन िम®ण कì समान माýा को एक चौथे 
बतªन म¤ 11:4, 7:5 और 13:7 के अनुपात म¤ िमलाया जाता है। 
चौथे बतªन म¤ पानी और दूध का अनुपात ²ात कìिजए।
1. 59:31     2. 5:3    3. 9:1      4. 31:59      5. Data 
Inadequate
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Milk and water are mixed in a vessel A as 

and in vessel B as . For vessel C, if one takes 
equal quantities from A and B, find the ratio of milk 
to water in C.

एक बतªन A म¤ दूध तथा पानी  के अनुपात म¤ जबिक 

बतªन B म¤  के अनूपात म¤ िमलाया गया। बतªन C के िलए 
यिद A तथा B से समान माýा म¤ िम®ण िलया गया हो; तो C म¤ 
दूध तथा पानी का अनुपात ²ात कìिजये।
1. 4:9        2. 1:9        3. 7:5         4. 41:19          5. 41:29
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A vessel have a certain quantity of pure milk 
initially. One third of the milk is replaced with 
water, thereafter 2/5th of the mixture is replaced with 
water. Find the ratio of the milk to water in the final 
mixture.
एक बतªन म¤ शुł म¤ एक िनिĲत माýा म¤ शुĦ दूध है। दूध का 
एक ितहाई पानी के साथ बदल िदया जाता है, इसके बाद 
िम®ण के 2/5 व¤ िहÖसे को पानी से बदल िदया जाता है। अंितम 
िम®ण म¤ दूध के पानी का अनुपात ²ात कìिजए।
1. 3:2     2. 2:5       3. 2:3       4. 5:2       4. Data 
Inadequate
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From a container of wine, a thief has stolen 15 litres 
of wine and replaced it with same quantity of water. 
He again repeated the same process. Thus, in three 
attempts the ratio of wine and water became 
343:169. Find the initial amount of wine in the 
container.
शराब के एक बतªन से, एक चोर ने 15 लीटर शराब चुरा ली और 
इसे उसी माýा म¤ पानी से ÿितÖथिपत कर िदया। उसने िफर से 
वही ÿिøया दोहराई। इस ÿकार तीन ÿयासŌ म¤ शराब और पानी 
का अनुपात 343:169 हो गया। बतªन म¤ शराब कì ÿारंिभक 
माýा का ²ात कìिजये।
1. 12       2. 1.2       3. 120     4. 150     5. None of these
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The ratio of present ages of A and B is 7:9. Six years 
ago, the ratio of 1/3 of A's age at that time and 1/3 of 
B's age at that time was 1:2. What will be the ratio of 
A's age to B's age 6 years from now?
A और B कì वतªमान आयु का अनुपात 7: 9 है। छह साल 
पहले, उस समय A कì उă का 1/3 और उस समय B कì उă 
का 1/3 का अनुपात 1: 2 था। अब से 6 वषª बाद, A कì आयु 
और B कì आयु का अनुपात ³या होगा?
1. 4:5    2. 14:15      3. 6:7      4. 18:25       5. 22:25
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If the number of men are increased by 12.5%, and 
the efficiency is decreased by 28.57%; find the 
percentage change in the number of the days to 
complete a work; if the per day working hour 
remains constant.
यिद पुŁषŌ कì सं́ या म¤ 12.5% कì विृĦ हòई है, और द±ता म¤ 
28.57% कì कमी आई है; िकसी कायª को पूरा करने के िलए 
िदनŌ कì सं́ या म¤ ÿितशत पåरवतªन ²ात कìिजये; यिद ÿित 
िदन काम का समय िÖथर रहता है।

1. 2. 3. 4. 

5. None of these
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Given line graph shows the number of students 
appeared from state A and state B in an 
examination.
िदए गए लाइन úाफ म¤ एक परी±ा म¤ राºय A और राºय B से 
छाýŌ कì सं́ या िदखाई गयी है।
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Number of students appeared from state B in 2009 is 
about what percent of total students appeared from 
state A?
2009 म¤ राºय B से सिÌमिलत छाýŌ कì सं´या राºय A से 
सिÌमिलत कुल छाýŌ का िकतना ÿितशत है?
(a)32        (b)30           (c)33           (d)28           (e)22
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What is the difference between the total number of 
students from state A in 2004 and 2005 together and 
those of state B in 2008 and 2009 together?
2004 और 2005 म¤ एक साथ राºय A और 2008 और 2009 म¤ 
एक साथ राºय B के छाýŌ कì कुल सं´या के बीच अंतर ³या 
है?
(a)520         (b)580           (c)620            (d)720            
(e)680
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What is the ratio of number of students appeared in 
examination from state B in 2004 ,2006 and 2008 to 
the number of students appeared from state A in 
2005,2007 and 2009?
2004 , 2006 और 2008, म¤ राºय B से और, 2005, 2007 तथा
2009 म¤ राºय A से सिÌमिलत हòए छाýŌ कì सं́ या का अनुपात 
िकतना है?
(a)73:55       (b)55:71          (c)79:15            (d)75:13           
(e)13:85
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If in 2010 the number of students appeared from state A 
is increase by 10% and those from state B increased by 
15% as compared to the number of students from 
respective states in year 2009,then what is the ratio of 
number of students from state A and state B in 2010?
यिद 2010 म¤ राºय A से छाýŌ कì सं´या म¤ 10% कì वृिĦ हòई है 
और वषª 2009 म¤ संबंिधत राºयŌ के छाýŌ कì सं´या कì तुलना म¤ 
राºय B से 15% कì वृिĦ हòई है, तो 2010 म¤ राºय A और राºय B 
से छाýŌ कì सं´या का अनुपात ³या है? (a)287:439       
(b)285:437         (c)289:437          (d)433:189        
(e)242:437
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What is the difference between average number of 
students from state A and state B?
राºय A और राºय B के छाýŌ कì औसत सं́ या म¤ ³या अंतर 
है?
(a)90           (b)60          (c)80          (d)70           (e)110



अǓत संभाͪवत Ĥæन – Based on Previous Year Paper

@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan

@mathsbyanjanThank You
धÛयवाद 


